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AT 3397 :
FHETfTRaa 143911 &1 Siga Graei] & 9ieq 3R 3751 Ged] & 9t T :

()  ¥o7-99 GR @US] § [@9IfSd 59 T 8 — %, @, 7 U9 g | 39 Y97 7
40 597 8§ | @t 397 37T & |

(i) @& H Y97 G&I7 1 G 20 T 20 Y97 8 UF Yk Y97 U 3% HT & |

(iii) @€ @ T Y97 G&I7 21 & 26 7% 6 97 & Ud I Jo7 3T 37h] 18l

(iv) @US 7T T Yo7 G127 & 34 T 8 T & Ud edeh Jo7 a4 31 #1 & |

() @Y T Y9 &I 35 G 40 T 6 I & UF Y JIT IR Gh] FT & |

(vi) I97-97 H GHT W HI3 [dheq 787 & | a9d - e aiet gl y991 4, 3-a1
371 drct 3 Fo9l H, di7-dl7 37Hl art T FeAl B, G-I/ 37H] arat @7 5o
ﬁmﬁwﬁqwé/@mﬁmwﬁﬁﬂwm%@w

(vii) 3T 3lars, WW@W@WWWW%W&JW%@UW
g Q\

(viii) W%Waﬁ&@wﬁﬂﬁé/

QU &

Jo7 GEIT 1 G 20 T I Jo7 1 3% H1 8 |
97 g&IT 1 @ 10 ¥ &1 9%y giHT |

1. 3k fag (3, - 6) fegati (0, 0) A (x, y) I HIS A TGS H1 weg-forg 7, I
g (x, y) B

(A (-3,6)
(B) (6,-6)
C (6,-12)
3
@ (-3
.430/5/3!
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

Section B : Question Numbers 21 to 26 comprises of 6 questions-of two marks
each.

Section C : Question Numbers 27 to 34 comprises of 8 questions of three marks
each.

Section D : Question Numbers 35 to 40 comprises.of 6 questions of four marks
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 quest of one. mark, 2 questions of two marks,
3 questions of three marks uestzons of four marks. You have to attempt
only one of the choices 1@9 ch questions.

In addition to this, arate instructions are given with each section and
question, wherever gecessary.

Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.

Choose the correct option in question numbers 1 to 10.

1.

If (8, — 6) is the mid-point of the line segment joining (0, 0) and (x, y),
then the point (x, y) is

A (=3,6)

(B) (6,-6)

(C) (6,-12)
3

(D) (5, -3)

3 P.T.O.
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EE
A

2. IApd-1 H TCU TC I H, TRI@T PQ % THIR Wil S arell wosi3@rsii i

e 3
P
Q
37Hl-1
A 0
(B) 3%
< 2
D 1
3. ﬁ;"c'al'l?ﬁ IRl 4x2 — 6x + 3 = 0 1 fafahent (diseriminant) S&'
(A 12 ®
(B) 84 g\@
©) 243 S
W
(D) -12 Q
o oo M $
4. ATl aiere aid e
T 0-5 |.5-10 | 10-15| 15-20 | 20-25
IR : 8 10 19 25 8
Hreges o1l kbl 3= €T 3
(A) 15
B) 10
) 20
M) 25
\/§ o o
5. I cosA= R 0°<A<90°%,dl A 3
J3
(A) o
(B) 30°
(C) 60°
D) 1
.430/5/3
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ExE

[T
2. In the given circle in Figure-1, number of tangents parallel to tangent PQ is
P
Q
Figure-1

A o0

(B) many

< 2

(D) 1
3. The discriminant of the quadratic equation 4x% L6x+3=0 is

(A) 12

(B) 84

s &
© 243 g\
D) -12 S
QS

4. For the following fre@cy distribution :

Class : 65 | 5210 | 10-15 | 15-20 | 20— 25

Frequency : 8 10 19 25 8

The upper limit of median class is

(A) 15

(B) 10

) 20

(D) 25
5. If cos A = g, 0° < A <90° then A is equal to

J3

A N

(A) 9

(B) 30°

(C) 60°

D) 1
.430/5/3! P.T.O.
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6. TorElt 31w Tt & B <A ITReRar @

A 1
1
(B) 2
(C)  ufufya &
D) o
7. g g aieRn w1 T I T 7, d@ el W@l
(A) THR 3
(B) Ufdesd! I Ut &
(C) e Hurdt it &

(D)  ghrem wiresd At &
8. fogaHi 3,—-2)d (-3,2) F A= HI gl B

(A) 52 TS
(B) 4410 13 \\s®

() 210 %S §2§
(D) 40 3TE Q\Q%

9. WlSOﬁW@@%W%WﬁO&m%HWQHHIWsldI%:
(A) 10x2x32

(B) 25x4x3
(C) 22x3%2x5
(D) 4x9x5
10. (% % (&A% o TR & Th T H G901 I8 &7%d & (r] > ry)

(A 7mryl+mnryl

(B) ml(r;+ry)+mry

(C) énh (rl2 + r22 +TT9)

@ h%+(@ -1,
Yo7 @& 11 @ 15 § Reb &7 9RT /
11. I TFUE ax® - 2x I Th JIh 2 §, Al ‘@’ 1 AW 2
1.430/5/3 6
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=t
6. The probability of an impossible event is
Aa 1
1
B =
(B) 5
(C)  not defined
D) o
7. If a pair of linear equations is consistent, then the lines represented by
them are
(A) parallel
(B) intersecting or coincident
(C) always coincident
(D) always intersecting
8. The distance between the points (3, — 2) and (= 3, 2)is
(A) /52 units
(B) 4410 units Q
: Q
(C) 2410 units S\
(D) 40 units S
9. 180 can be expresse(@a product of its prime factors as
(A) 10x2x32
(B) 25x4x3
©) 22x3%x5
(D) 4x9x5
10.  The total surface area of a frustum-shaped glass tumbler is (r; > ry)
(A 7mryl+mnryl
(B) nl(r1+r2)+n r22
© b (F +1F +ryry)
@) [h? +(x, —1,)?
Fill in the blanks in question numbers 11 to 15.
11. If 2is a zero of the polynomial ax? — 2x, then the value of ‘a’ is
.430/5/3! P.T.O.
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12.  3fe g et A Boenedt &1 U 2:3 7, A1 37 Mol & A=A T LI

_ ®m|
13. forelt ga 1 Q1 fogetl W wiresfea & areft @ & %Ed @ |
14. 3¢ A PQR 1 &5%d IA 7, dI f6g P, Q 991 R 2
15. @i o B B | (TEiTEH/EmEy)
97 G&IT 16 & 20 F [Hefcriga & 3w g

16. U {8 1 T aR IDTAT 1 2 | a1 o) o 3T skl IRk 31d Hifom |
17. 36n a7 4l IEN &% aTcl T <hl BT G AT |
18. Afe —6,x,8 Teh GHIGK &I o hi¥d U 3, a1 x sl HH I ST |
ST
AT I — 27, — 22, — 17, — 12,... ST 1197 92 F1d hIWT |
19. Tfd-2 #, ff % U fog B ¥ ¥R AC & Rt &1 3991 Hor 60° 7 | Al
Wﬁﬁézoﬂ.@,ﬁﬁn%&m-ﬁgﬁwﬁgﬁaﬁmaﬁﬁql

Q
C SQ\

20 n°r.z§

STTHIA-2
20. T T hIfT :

tan 40° x tan 50°
YT

I cos A =sin 42° B, @ A & TH 4 T |

WIE @
Uo7 G&IT 21 G 26 H J9F 972 37h] HT & |
1

%, O<A+B£90°,A>B,T‘ﬁ
J3

21. ?T% tan (A + B) = J3 qun tan (A - B) =
A 99T B % A F1d hIfST |

.430/5/3' 8 _
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Eym
=R
12. If the radii of two spheres are in the ratio 2:3, then the ratio of their
respective volumes is

13. A line intersecting a circle in two points is called a

14. If ar (A PQR) is zero, then the points P, Q and R are

15. All squares are . (congruent/similar)

Answer the following question numbers 16 to 20 :

16. A coin is tossed twice. Find the probability of getting head both the times.

17. Find the radius of the sphere whose surface area is 367 cm?!

18. Find the value of x so that — 6, x, 8 are in A.P.
OR
Find the 11% term of the A.P. —27,-22, - 17,-12,...".

19. In Figure-2, the angle of elevation of the top.of a tower AC from a point B
on the ground is 60°. If the hei%t of the.tower is 20 m, find the distance
of the point from the foot of th\é\ wer.

Q
N
$
20 m
| 60°
A B
Figure-2

20. Evaluate:
tan 40° x tan 50°
OR
If cos A = sin 42°, then find the value of A.

SECTION B
Question numbers 21 to 26 carry 2 marks each.
21. If tan (A + B) = /3 and tan (A - B) = % 0<A+B<90° A>B,then
find the values of A and B.
430/5/3! P.T.O.
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22. U JUHICT b THE H W Uh Ul (31&R) AIGTSA AT WAl & | FHh! T
TiRRrehar Bt foh 9 9ol (3181) Weh T (vowel) & ?

23. x % foT gt hIfe
V3xZ2 +14x-53 =0

o 0

24, Tr=fafied seq =1 919 7@ KIS
o 5-15 | 15-25 | 25-35 | 35— 45
TRERAT : 2 4 3 1
Jroran

fefafga s 100 wH=TET & M-S & @@= &l euidra «
Y (?: ﬁ) 200 — 400 {400 — 600600 — 800 | 800 = 1000{ 1000 — 1200

HETTT hl
T

21 2& 19 23 12

: e
39 9T 1 g% 1A HIY %B\

25. g sHifST fb = H@Tn%mﬁw@mﬂ’(%@)mwm
&l el 2 | O
AT

150 AAT 200 T A.&. (LCM) F1d i |

26. IHA-3 H, AABC @1 AXYZ g 7T & | G AB = 3 &I, BC = 6 &,
AC =23 T, L A=80° /B =60° XY =43 Tft, YZ = 12 T} qe
X7 =6 gt 8, A £ Y 1 AH J1d shifrT |

X
A
NOWA N o J5 i 6 &l
60°
B 6 Tt C Y 12 Tft 7

HTFId-3

.430/5/3' 10 _
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22. A letter is selected at random from the set of English alphabets. What is the
probability that it is a vowel ?

23. Solve for x :
V3x2+14x-543 =0

24. Find the mean for the following distribution :
Classes : 5-15 | 15-25 | 25-35 | 35-45

Frequency : 2 1 3 1

OR

The following distribution shows the transport ~expenditure of
100 employees :

gﬁp??;lfhwre 200 — 400 [400 — 600|600 — 800{.800 — 1000 | 1000 — 1200
Number of
21 1 2 12
employees : “26@ 4 3
’\\
Find the mode of the distr@tion.
&
25. Check whether 6™ @ end with the digit ‘O’ (zero) for any natural

number n. @

OR

Find the LCM of 150.and 200.
26. In Figure-3, A ABC and A XYZ are shown. If AB = 3 cm, BC = 6 cm,
AC = 243 cm,4A=80°,4B=60°,XY=4\/§ cm, YZ = 12 cm and

XZ = 6 cm, then find the value of £ Y.
X

4\/§cm 6 cm

B 6 cm C Y 12 cm Z
Figure-3

.430/5/3 P.T.O.
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@Ue T
J97 G727 G 34 F Jcdb J97 3 37H] HT & /

27. 4 9, 5 At qe1 6 T YIS ATel Tk T 1 T KT | R 3eh wwEd
wsﬁﬁﬁﬁmaﬁﬁqmﬁgmﬁmﬁgmﬁw%ﬁaﬁgﬁ
g | o
2-5 HI BISA &1 T ga Wi | 366 % 8 8 Ul ¥ feuq weh foig P
it | g w fog P& wosi@n gm K @ Al |

28. Ife @ gutar gfed 23, 25, 27, ... 9AT 5,8, 11, 14, ... & nd U WHME &, d n
%1 U d HINT |

29. THfd-4 H, AB 3R CD % O a1 0 & TER T =E g a1 OD B

g4 HI M 3 | Il OA = 7 4l 8, A1 SHIThd ] 1 &TFA 1A VT |
B

iy
%7

A
SHTFlT4
HAAAT
3R(d-5 H, 7 T Y1 a1t a7 ABCD s 9RTd T I @il T & | STfhd
WA %1 &A%Be 1 hIT |

A
HrFld-5
12
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SECTION C
Question numbers 27 to 34 carry 3 marks each.

27. Construct a triangle with its sides 4 cm, 5 cm and 6 cm. Then construct a

triangle similar to it whose sides are % of the corresponding sides of the

first triangle.
OR

Draw a circle of radius 2-5 cm. Take a point P at a distance of 8 em from
its centre. Construct a pair of tangents from the point P to the circle.

28. If the n'® terms of two A.P.s 23, 25, 27, ... and 5, 8, 11, 14, ... are equal,
then find the value of n.

29. In Figure-4, AB and CD are two diameters of a circle (with centre O)
perpendicular to each other and OD is the diameter of the smaller circle.
If OA =7 cm, then find the area of the shaded region.

B
o
@Q o) ¢
$
A
Figure-4
OR

In Figure-5, ABCD is a square with side 7 cm. A circle is drawn
circumscribing the square. Find the area of the shaded region.

Figure-5

P.T.O.
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30. Tag IS o6 w ga & ufom e MU 9gys i -8 S ¢ 99 *
g T HYLh IV AT Lt & |

EE
A

31. WM % UH Th &l hl 6 g foddeh @19 Th 10 H. x 10 H. I8 H Th
forem ST B | 3T 3 TH 10 x 10 e A wieaw 35 fudh qon we e # |
36 foig A W T i 1 qen, fog B W 9T 1 9, %gcquﬁrwqﬁ‘m
dor fog D W Tk THTEX T W1 ORI 2 | 38ehT Ul T8 fohe TTeA i q@et
THI% AT 2 qAT Hadl 8 6 A, B, C d1 D I e W 98 e Teh oIl
IqYst o9 AT |=ﬁ%ﬁ{QTrl1|r4>|E|ﬁlei\o|ch g Ffafgd o I -
y

X

10
9
8
24
7 G'C
6 <
%s \:‘-q:g
5 S
RS ]
S B
3
2 A
1
o] 1 2 3 4 5 6 7 8 9 10
()  Trcums 1@ o w9 4 10 x 10 g =1 3wAT A g fagad A, B, C qn
D &% Tgeme a i |
(i)  ¥ma shIfST fh s ABCD T ToTaR 9qyst & A1 4 |
32. fag Fifse {5 -
cos.A 1+sinA _ 9sec A
1+sinA cos A

33. fag fifSu s J3 & uimy g |

.430/5/3!
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30. Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

31. Krishna has an apple orchard which has a 10 m x 10 m sized kitchen
garden attached to it. She divides it into a 10 x 10 grid and puts soil and
manure into it. She grows a lemon plant at A, a coriander plant at B, an
onion plant at C and a tomato plant at D. Her husband Ram praised her
kitchen garden and points out that on joining A, B, C and D they may
form a parallelogram. Look at the below figure carefully and answer the
following questions :

y
10

9

8

N W
A@ %
> D
@“ B
3
&
) b
1

X

0 1 2 3 4 5 6 7 8 9 10

1) Write the coordinates of the points A, B, C and D, using the
10 x 10 grid as coordinate axes.

(ii))  Find whether ABCD is a parallelogram or not.

32. Prove that:
cos A 1+sin A

: = 2sec A
1+sin A cos A

33. Prove that /3 is an irrational number.

5/3 15 P.T.O.
Download all NOTES and PAPERS at StudentSuvidha.co



http://studentsuvidha.com/
http://studentsuvidha.com/

EE
A

34. ﬁﬂwe’ﬁaﬂ:&!ﬁt%%awa?ﬁ«@ql Bl H@qlﬁ%aﬁ?ﬁﬁzlaﬁ\ﬂ%%l

&I F1q hIfaT |
PG|
x 997 y & foie ga1 i
2,313 @ 2_%__9
X y X y
wWug g

97 G&IT 35 G 40 T 9 G974 37H] FT & |

35. < Ml % T Teh 1Y Tk B hl 9%‘42?1?‘1411%%% | g Y@ AT A
B Bl WA H, H U@ 91 9 ¥ 10 U HH GHIAdT 8 | IIh Ad gl

STAT-3AAT BT hl WA T TAI FTGHINT |

T T SR 9T &m%wmmmammm
sawwquwﬁ% HAfgETg SRR qTeh fSEh! SR AR qreh
$1 ASE & IO qAT S 12 . 7, § 4 o HX s 8 | 39 Uk hl
TS 7R <SS FTd_hifon. |

36. 32T H= 3R MUR Frar 18 Wifl ATelt T SRR STeel 1 | W 8 B |
39 dTe] i W T @Teit fohaT SITaT B 3R 39 3d shi Teh FEThR &l S8 STl
2 | Ife yaTehr @8 i SuE 24 It 7, @1 39 <6 K G ot fodde S=rE
T HITT |

37. UH TG % JA % Uh fag ¥ T4 & GH@ RNl & TSHEA HI0 FHAA: 30°
3R 45° § | I g Fopmi & 10 Ht. 1 F=1E W B @A TG F @SR @
e | (V3 = 1-73 T Shifsw)

38. Ti=faifgd semar sea & fow @ 0 gspr’ 1 dRor difew .

aif . 0-10{10-20{20-30(30—-40{40-50|50 —60{60 — 70|70 — 80

TRANAT 7 14 13 12 20 11 15 8

.430/5/3' 16 _
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34. The difference between two numbers is 26 and the larger number exceeds
thrice of the smaller number by 4. Find the numbers.

OR
Solve for x and y :
z+§=13 and é—é=—2
X y X y
SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. Two water taps together can fill a tank in 9% hours. The tap of larger
diameter takes 10 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can separately fill the tank.

o

A rectangular park is to Q’designed whose breadth is 3 m less than its
length. Its area is to B> square metres more than the area of a park
that has already b ade in the shape of an isosceles triangle with its
base as the breadth of the rectangular park and of altitude 12 m. Find
the length and breadth of the park.

36. A cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled
with sand. This bucket is emptied on the ground and a conical heap of
sand is formed. If the height of the conical heap is 24 cm, then find the
radius and slant height of the heap.

37. From a point on a bridge across a river, the angles of depression of the
banks on opposite sides of the river are 30° and 45°, respectively. If the
bridge is at a height of 10 m from the banks, then find the width of the
river. (Use V3 = 1-73)

38. Draw a ‘less than’ ogive for the following frequency distribution :

Classes : 0-10/10-20|20-30({30—-40{40 -50|50 — 60|60 — 70|70 — 80

Frequency : 7 14 13 12 20 11 15 8

0/5/3' 17 P.T.O.
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39. g foreht Boyge 1 o o % TR = @ yeneti &l frefim fogeli w

40.

.430/5/3!

yfesg & & e we T@n Ei=h S, qr fag Sifse f 3 o= g qod ws &
arura § fawfra gt 8
STt

aTTeRfd-6 H, Tmemg s ABC #, AD L BC, BE L AC @1 CF L AB 7 | fag
shifse fos 4 (AD? + BE? + CF?) = 9 AB2.

A
F E
B ®]; C
G

%
E‘Eq—cx'p(x):3x4—4x3—\®§2+8x+8é5mwaﬁﬁﬁﬁ?,ﬂﬁ J2 qen
—ﬁ,maﬁyﬁ%&@&m%

AT

a_gqag(x)=x3—3x2+x+27ﬁa§qﬁx2—2x+lﬁﬁﬂﬂ%ﬁf@ﬁl’qw
forarsm Ueriiten st gerar i St Hify |
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39.

40.

.430/5/3

If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, prove that the other two sides are divided in
the same ratio.

OR

In Figure-6, in an equilateral triangle ABC, AD 1 BC, BE 1 AC and
CF L AB. Prove that 4 (AD? + BEZ + CF?) = 9 AB2.

A

F@re 6

Find other zeroes of the p@omlal
px) = 3x* — 4x3 \%OX +8x + 8,
if two of its zeroes ge V2 and —/2.

OR

Divide the polynomial g(x) = x3-8x%2 +x+2 by the polynomial
x2 — 2x + 1 and verify the division algorithm.

19 ‘
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